N
i
()]
M
H
i
2
z
ne
s
ton
!
oY
HU
0
2
o
3]

S =
SR el
LS

el

o

Al

SN P SA(EN) - MBAY - BES

Off &t 24

dEE
Off & 24

m

Al

114,462,874
64,644,877
167,299
9,791,265

39,

859,433

116,876,

103

A2,413,229

-
o
I
-
0l
>

0
0
f0
=
x
2]
02

H

= M

86,
49,

140,956

958,061
167,299

,869,
, 146

179
417

89,893,

051

A 3,752,095

H

o
k-
Jn
HT
01
>
o

= N W

, 738
,559
,184
,995,

588
,003
454
131

65,289,

287

449,301

S|
P
H
0m
)
[l
pa]
il

= N W

, 751
,204
713
,833,

,350
,943

,281
126

61,241,

177

510,173

=z N H

. 751
,204
713
,833,

,350
,943

,281
126

61,241,

177

510,173

61,751,350,000& =1

= MW

, 751
. 751

,350
,350

,204,943
, 713,281
,833,126

61,241,

177

510,173

= M

114,960

22,992
91,968

,360

A 20,400

n

Al

114,960
22,992
91,968

,360

A 20,400

g 114,960,000 * 1

=

114,960

114,960

22,992
91,968

,360

A 20,400

CoraXtel AFE

= HnH

,708,119
,354,060

257,968

,096,091

2,692,

670

15,449

307 glztol &

= N H

,708,119
,354,060

257,968

,096,091

2,692,

670

15,449

2,708,119,000& *1

,708,119
2,

708,119

2,692,

670

15,449




2N
X ZH -
L= B

el

223040t
COISK W Y BRAL 29
LEASER X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 1,354,060
= 257,968
Al 1,096,091
AUOZSE29Y 222,349 220,000 2,349
307 gl2tol & 222,349 220,000 2,349
10 AL SXNAIEEE2EHEX 222,349 220,000 2,349
OAUOZ2Yg 29l 222,349,000 =14 222,349
ASISXAIE SAR SX+(LAd=TAA) 941,810 1,000, 080 A 58,270
< 190,213
Al 751,597
307 glz2+ol & 941,810 1,000, 080 A 58,270
< 190,213
Al 751,597
06 283 6,170 0 6,170
OMEBISXIAE SAA doil28 Jted X3
6,170,000& *1 6,170
< 3,085
Al 3,085
10 ALSISXAIEEE2EHEX 935,640 1,000,080 A 64,440
OMEBISXANESAL S 935,640
DEX+g(LSAIL)
935,640,000& *1 935,640
< 187,128
Al 748,512
Col=XAIE XI& 10,280,560 10,179,529 101,031
= 1,643,683
< 2,991,799
Al 5,645,078
COIMEAlY 29| 315,295 277,576 37,719
< 157,647
Al 157,648
307 21201 A 315,295 277,576 37,719
< 157,647
Al 157,648
10 ALSISXAIEEER2IHEX 315,295 277,576 37,719
OLQMEAE 2l 315,295,000 »14 315,295
= 157,647
Al 157,648
MOt =S XAIE 23] 596,253 596,253 0
307 gl2tol & 596,253 596,253 0
10 AL SXNAIEEE2EH EX 596,253 596,253 0
OMI=A=TAIE 2SHl 596,253,000 14! 596,253
ALYz N SHUES(AESH) 5,288,163 5,372,324 A 84,161
< 2,644,082
Al 2,644,081
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 5,288,163 5,372,324 N84,161
== 2,644,082
Al 2,644,081
01 AR E & A 462 5,288,163 5,372,324 N84,161
O&INQUYLZ A X ZHUHES(AE2H)
5,288, 163,000 « 1Al 5,288,163
&< 2,644,082
Al 2,644,081
A Adxxzk XY ZHUES(MIIISAH) 1,905,136 1,514,156 390,980
301 et A= 1,905,136 1,514,156 390,980
01 Al E & A %52 1,905, 136 1,514,156 390,980
OMIQLYE=ZA N ZSHUES(MIISH)
1,905, 136,000 14! 1,905,136
Mol A DAL XA 7,200 7,200 0
o= 1,440
Al 5,760
307 212t0| ™ 7,200 7,200 0
=} 1,440
Al 5,760
10 AISIEXAIEEHE2IHIEX 7,200 7,200 0
OIS N DAIE 2HXH 7,200,000 «1A! 7,200
& 1,440
Al 5,760
LRQAAE JsEE 60,000 292,057 N 232,057
= 30,000
& 6,000
Al 24,000
402 SI2FXHE0| & 60,000 292,057 N 232,057
= 30,000
= 6,000
Al 24,000
01 QIZEXIEAIE 2 X 60,000 292,057 N 232,057
OLQQAUANL JsEZ 60,000
DANFOIZIE S HH &H 2
60,000,000 =10 A 60,000
= 30,000
o= 6,000
Al 24,000
LOSIAIE g2 4,680 4,500 180
202 04d| 4,680 4,500 180
01 2L HI 4,680 4,500 180
OLQEXNALE d2FX 390,000& x12& 4,680
LOIAZAIE 2H XS 693,833 685,463 8,370
= 485,683
o 41,630




2N
X ZH -
L= B

el

ZZZ 0§t
cel=mX 58 ¥ HEA
L=SEXAE X

x

0]

02

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

166,520

307 21201 A

= N W

693,833
485,683

41,630
166,520

685,463

8,370

10 AFRIS XA EHE 23

OLlAZ AL

. 693,833,000 * 14!

zZ W

693

693
485

41
166

,833

,833
,683
,630
,520

685,463

8,370

HT
0
=
nx
0z
=1
il
2

=z N H

,410
. 128

141
141

,000
,000
,000
,000

1,430,000

/20,000

307 glztol &

=z N H

,410
128

141
141

,000
,000
,000
,000

1,430,000

A 20,000

10 AFRIS XA EHE 23
OEFAE dA=H

>LolAlE

DO AIE

22X

880,000,000 =14l

530,000, 0003 =14l

=z N W

= W

,410
,410

880

,000
,000
,000

704,000
88,000
88,000

530,000

424,000
53,000
53,000

1,430,000

220,000

CRINItAIE 2EXE

= M

, 389,296

336,241

,053,065

4,529,231

A 1,139,935

L
ol

O

BN

=
Mo

ol

I_

780,000

750,000

30,000

307 glz2tol &

780,000

750,000

30,000

10 AFRI S XA 2 HE 2 S

Oko=Xa 2gtl

780,000,000 »1H 2~

780,000
780,000

750,000

30,000

Lol

ik

s XA

K

st At

[0

H

Al

15,000

4,500
10,500

15,000

307 21201 &

in

Al

15,000

4,500
10,500

15,000

A S XA E X

Okel 2stas NEAM

2 15,000, 0003 * 14!

t

Al

15,000

156,000

4,500
10,500

15,000

o
ro
H
)
ton
0
I
=
Pl
ton
bal
0

58,000

78,790

A 20,790




2N
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223040t
COISK W Y BRAL 29
COIOIIAIE YK

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 38,000 68,790 A 30,790
03 BIAHNHE2IHIEL 38,000 36,790 1,210
OUEt =3 FFAIXIE 2EHI
38,000,000 =14 & 38,000
402 2I2H X201 M 20,000 10,000 10,000
01 It ALEE X 20,000 10,000 10,000
OZ3zg 4ol XA 2,000,000 = 10CH 20,000
tisteolg FAIXS XS (=Hl) 92,800 64,800 28,000
< 16,960
Al 75,840
307 glz2tol & 92,800 64,800 28,000
< 16,960
Al 75,840
03 QIAHNHE2IHIEE 52,800 24,800 28,000
OUstolsd=AKS 224 XNJA(B2Y &
STy 2eXXH) 52,800,000 =14 52,800
< 4,960
Al 47,840
11T MISXASEX 40,000 40,000 0
oLeolthstey T2yl (ZAgl)
40,000,000& =14 40,000
< 12,000
Al 28,000
229 29 & 287,490 539,490 A 252,000
201 24l 11,340 11,340 0
01 At 2t 2l 11,340 11,340 0
O1 det=2Hl 11,340
DEERY LME B
2,100 45000 & x 128 11,340
307 21201 A 276,150 476,150 A200,000
10 ALSISXAIEEE2GHEX 200,000 400,000 A200,000
OZ2% 294l 200,000,000 =14 200,000
11T M SXAISE EX 76,150 76,150 0
OZ=2Y SIMMEE I (AT AIALY)
45,0003 * 18074 2 8,100
OZ22Y MIAEEBE =5 (A AIAEY)
70,000 *2300H 2 16,100
Ookosgaady J3RI AF 9,000,000& 14 9,000
OZ2g 8= B2 At 350,000 *25JH 2~ 8,750
OZ2Y =23 el s29H|
34,200,000 =14 34,200
dzg et X 610,500 597,000 13,500
< 122,100
Al 488,400
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Ha: Lo=X B3 2 DAL 29
S ZQOIAIE 2SN (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 610,500 597,000 13,500
< 122,100
Al 488,400
11T M SXASE EX 610,500 597,000 13,500
OZ2Y gt 610,500,000 » 14! 610,500
< 122,100
Al 488,400
22 JIsEZ A 300,000 270,000 30,000
401 Al HIZ 2018 300,000 270,000 30,000
01 A& HI 300,000 270,000 30,000
OZ2Y MH24(2500 SE)
300,000,000 =14l 300,000
Z2Y =322 22kt XA 97,600 82,000 15,600
307 glz2tol & 97,600 82,000 15,600
11T M SXAISE EX 97,600 82,000 15,600
OZ2Y =3z LHi3
8,000,000 =14l 8,000
OZ2Y LoAdA2s Z208 29|
89,600,000 =14l 89,600
d2Y 294 NA(BEX) 963,406 952,651 10,755
< 192,681
Al 770,725
307 glz2tol & 963,406 952,651 10,755
< 192,681
Al 770,725
10 AL SXAIEEE2EH EX 963,406 952,651 10,755
OZ32g 234 963,406,000 » 14! 963,406
< 192,681
Al 770,725
229 22 & 122,500 122,500 0
201 Yot Y| 7,500 7,500 0
01 At 22l 7,500 7,500 0
O1 get=ZHl 7,500
PPERY FRYBAY 25|
7,500,000& » 14! 7,500
301 LA Z 115,000 115,000 0
01 AR 2Z A 53 115,000 115,000 0
OZ2g FRL2XA 115,000, 000& 14! 115,000
COI2stHE &X 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000




A ZZF0HI
o

Ha: Lo=X B3 2 DAL 29
Sl LOIGIIAIA SHX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OLRANE Lo2sdyH &2 el2dd
30,000,000& =14l 30,000
ColtiE (wal) 29| 32,000 32,000 0
307 gl2tol & 32,000 32,000 0
10 AL SXNAIEEE2EH EX 32,000 32,000 0
OLoltisi(ual) 24l 32,000,000 =14l 32,000
Lol oot A 14,000 16,500 A 2,500
23 2 soted =M K& 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALAISE E X 10,000 0 10,000
OLE 0124 BOIYEX N
10,000, 000& 14! 10,000
HOIE=Z U3l XA 4,000 5,000 A 1,000
307 21201 A 4,000 5,000 A 1,000
04 DIZHHALALSE E X 4,000 0 4,000
OAOIE=Z U3l & A &4
4,000,000& =14 4,000
Lolotd g s 2,201,153 1,851,630 349,523
= 760,375
J| 167,299
< 99,885
Al 1,173,594
HHHOlE ¥ Loloy At 50,880 50,880 0
201 Let24d] 880 880 0
01 At 2teltl 880 880 0
O1 et=2Hl 880
DOHOIYE & QoY &K EEIH MA
55,0003 x84 23] 880
307 gl2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 0 50,000
Okolog &AL & A3&E 45,000,000 * 14 45,000
OHOlE A 5,000,000& » 14! 5,000
s & AL FIHA X 6,960 6,000 960
202 04l 6,960 6,000 960
01 S LHOIYI 6,960 6,000 960
OLQ=RX Z2FA 580,000& »12& 6,960
CLOSSMHEIA(SE, 282, 712, EIIJIAY) 1,086,250 1,091,636 A5,386
= 760,375
= 66,425
Al 259,450
307 glz2tol & 1,086,250 1,071,836 14,414




2N BZZF0ie ot
Ha: Lo=X B3 2 DAL 29
el LQIoHA I 2B CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 760,375
< 66,425
Al 259,450
05 RIZtE = 466,029 363,384 102,645
Okol=E SEAMHIAAY 453,429,000 14 453,429
= 317,400
< 27,206
Al 108,823
OLoEE JIMAIIE Al AAY
12,600, 000& 14 12,600
= 8,820
< 756
Al 3,024
11 ALS S XAEE = 620,221 708,452 A 88,231
OSAHL A& FBESD] 50,000,000 =14l 50,000
= 35,000
< 4,500
Al 10,500
Okol=s JIEMHIAAY 570,221,000 14! 570,221
= 399,155
< 33,963
Al 137,103
COIAHZEE ALY 3,500 4,900 A 1,400
301 et A3z 3,500 4,900 21,400
01 MI28E+06l= 3,500 4,900 A 1,400
O AL TEALY 70,000& *502! 3,500
ZALO XM (REHEZAY, AAMIY, ZelA 715,365 686,350 29,015
oIt XMHEEMRFHl)
307 21201 A 715,365 686, 350 29,015
11T MISRASEEX 715,365 686, 350 29,015
OfRzsdzAY" 443,365
PEREIZIZAY AT X
287,500,000 =14 287,500
D> ZClAb 2124 H] 155,865, 000& 14 155,865
OMAS It @l AAMEHE 272,000
DAASAMA 2 X
22,000,000& =14 22,000
> AKX K& 250,000,000 =14l 250,000
SHEO ZSMEINE AEMY 29 3,600 3,600 0
307 glz2tol & 3,600 3,600 0
11T M 2XAS EX 3,600 3,600 0
O=sAHko SsdEHs 24
3,600,000 =104 2 3,600
SHSsSAES202E 334,598 0 334,598
J| 167,299




S Z2Z0Hel
Ha: Lo=X B3 2 DAL 29
el LQIoHA I 2B (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 33,460
Al 133,839
307 2iz2to| A 285,098 0 285,098
J| 142,549
= 28,510
Al 114,039
11T A EXAIEEX 285,098 0 285,098
OSHL S22 =E0 MY
285,098,000 « 1Al 285,098
J| 142,549
= 28,510
Al 114,039
402 SI2F X201 & 49,500 0 49,500
J| 24,750
& 4,950
Al 19,800
02 OI2HCH &4 AF S HI 49,500 0 49,500
OSSN0 SSHEESE0| AIAE 2=
49,500,000 =14l 49,500
J| 24,750
& 4,950
Al 19,800
I AE 22 4,517,359 8,026,874 N 3,509,515
= 2,995,000
< 256,800
Al 1,265,559
SI&E 29 233,609 319, 164 A 85,555
101 Q124 H| 32,157 32,501 N 344
04 JI2ZtHIZ22NEES 32,157 32,501 N 344
O3t&EANES2H o124H]| 32,157
= 50,9003 * 121 %249 12,675
DAXE 50,900 101 x12& 611
DESY 50,900& * 191 523 2,647
>ANHZ 1,057,000 121 x4 3| 4,228
DAIZAZESE 9,544 %101 x30A| 2+ 12& 3,436
> & MHFZ A 130,000& x 12l x12& 1,560
DunsEXd 120,000& 121 x12& 1,440
>E&AZ 26,592,4009 /12& =102l 2,217
D=0z 26,592,400 *121%4 . 5/100 1,197
DAHULEEH 26,592,400 «121%3.035/100 808
>AD| R 807, 100& x 121 %6.55/100 53
== 26,592,400 «121x1.50/100 399
>ATHEE 26,592,400 x121%x1/100 266
DIO=2H S 620,000 x14! 620
201 et 9| 190,772 241,923 AbB1,151




2AM: BZF0Cl
M LOI=EX =X U HOAL 29

0

tel QAL 2e] (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 AFR2t2ltl 10,128 7,588 2,540
O1 Let==2H| 8,268
DatEAE 23| 3,000,000 =14 3,000
DAL WIEE e =2
129,500& 27| x123] 3,108
DatEAE NEHIIE M2l 29
540,000& *43| 2,160
O4 I SH (S HANEZRX) 1,860
>ot= 100,000 32! 300
b= 100,000 32! 300
D> aet=s 70,000& »3¢2! 210
PRFSEe 50,000& *32! 150
> 2ot 300,000& 32! 900
02 =24l 180,644 234,335 A 53,691
O1 3322 ¥ HA 16,780
DatEAE Iz 1,340,000& 128 16,080
DEINERE = 50,000& »23| 100
PERsHE 150,000& 43| 600
O2 ¢ =l 163,864
DODIA 2 2Ea Uy
9203 *BAl 2t«105 »50H 3,864
DaEFANE FFHI 150,000,000 = 14! 150,000
O3 A& & Hl s Xt 10,000
DaEAME Sl 10,000,000 * 14! 10,000
202 044l 4,680 4,500 180
01 SLHOIYI 4,680 4,500 180
OFReA JL2FA 390,000& »12& 4,680
401 AIEHI L 20 6,000 40,240 A 34,240
01 A& HI 6,000 40,240 A 34,240
OSIEANE HILLILXNAE Ex
3,000, 000% *2CH 6,000
=23 AE 4,279,000 6,798,991 22,519,991
= 2,995,000
= 256,800
Al 1,027,200
401 AIEHI L 20| 4,279,000 6,798,991 22,519,991
= 2,995,000
= 256,800
Al 1,027,200
01 A& HI 4,279,000 6,798,991 A2,519,991
OFAAIE &= 4,279,000,000& =14l 4,279,000
= 2,995,000
& 256,800
Al 1,027,200




2A: 2

0

M- Lo
(=R B

12 E0H 2! 1t

ool HRAE 22

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e AF2ERE 22l 4,750 4,750 0
201 £B-2d| 1,000 1,000 0
01 At 22l 1,000 1,000 0
O1 get==&Hl 1,000
DA HHAA 500,000& »23] 1,000
301 et A Z 3,750 3,750 0
01 AR 2Z A5 3 3,750 3,750 0
O At At Z el 750,000& 57 3,750
==X #2435 10,000 570,000 A 560,000
OtSal2 X3 A 10,000 570,000 A 560,000
OtS32 2el 10,000 40,000 230,000
401 AIEHIZL 20 10,000 10,000 0
01 A& Hl 10,000 10,000 0
ontssl 2 2= 10,000, 0002 *1 10,000
ZoH=EX S 27,385,977 25,789,282 1,596,695
= 14,686,816
< 1,922,086
Al 10,777,075
ZOUI=XAE 2HXE 11,476,921 10,209, 120 1,267,801
= 4,872,268
S 515,335
Al 6,089,318
o= 24 982,420 884,420 98,000
307 gl2tol & 982,420 884,420 98,000
10 ALSI S XAIEEE 982,420 884,420 98,000
OFe=Na 29 982,420,000 1 £ 982,420
ZOHAXATHEAE 2 1,460,962 1,321,096 139, 866
307 glz2+ol & 1,460,962 1,321,096 139,866
10 M3 EXAEEEH 1,460,962 1,321,096 139, 866
OXOH = &I &
60,962,000& *1 1,460,962
FHUESSHEIE 29 262,876 262,876 0
307 gl & 262,876 262,876 0
10 M2 EXAEEEH 262,876 262,876 0
O ssd
262,876,000 *1 262,876
AMUZHMNESHEH 24 234,390 216,631 17,759
307 21201 A 234,390 216,631 17,759
10 ALSI S XAIEEE 234,390 216,631 17,759




fN: ZZF04

g Foje=sx sd

el ZOH=EXAE 2SR (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONAZBHINREHE 29
234,390,000 1 £ 234,390
HOHASHIIESAIE 2 405,686 351,686 54,000
307 gl2tol & 405,686 351,686 54,000
10 AL SXNAIEEE2EH EX 405,686 351,686 54,000
OFe SHIESAE 24
405,686,000& x 14! 405,686
ZOHAAN=AIE 298 K& 6,960,381 6,422,000 538,381
= 4,872,268
< 417,623
Al 1,670,490
307 21201 A 6,960,381 6,422,000 538,381
= 4,872,268
= 417,623
Al 1,670,490
10 M2 SXNANEHES2IHEX 6,960,381 6,422,000 538,381
OO H=AE 2L X (6HA)
6,960,381,000& 14 6,960,381
= 4,872,268
< 417,623
Al 1,670,490
ZOCIF2AESAIE 2 481,436 481,436 0
307 21201 A 481,436 481,436 0
10 ALSISXAIEEE2IHEX 481,436 481,436 0
QFMA=AESAIE 22 X2 (4MH2)
120,359,000 *40H A 481,436
sosgdlH 29 200,110 153,775 46,335
307 21201 A 200,110 153,775 46,335
10 ALSISXAIEEE2EHEX 200,110 153,775 46,335
O=xslsddy 29 200, 110,000& *1JH £ 200,110
ZOHAAN=AIE 22| dgod X 115,200 115,200 0
< 23,040
Al 92,160
307 21201 A 115,200 115,200 0
< 23,040
Al 92,160
10 ALl SXNAIEEE2EHEX 115,200 115,200 0
OFMAANFAIY 22 dgeld X
115,200, 000& 14 115,200
< 23,040
Al 92,160
ASISEXAE M SX=2(ZHASXAIL) 373,460 0 373,460
= 74,672
Al 298,788
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21,000
20,000
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©el HOHQIAIE JIsEY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
DZACIMEE HE2AE
19,750, 000& 14! 19,750
= 9,875
< 2,963
Al 6,912
DEFIAWE 92,796,000 =14l 92,796
= 46,398
< 13,919
Al 32,479
> oHulorel & 9,610,000 »14! 9,610
= 4,805
= 1,442
Al 3,363
ZOHAXAASITHEAE JIsE2 20,000 0 20,000
< 10,000
Al 10,000
402 QI2H X201 M 20,000 0 20,000
< 10,000
Al 10,000
01 It AL E X 20,000 0 20,000
OZOMAXIAAMSHEAL JISsELAL (SHOHR
ORI HIIES L) 20,000,000& =14 20,000
< 10,000
Al 10,000
ool A s Ald JIsE2 16,000 0 16,000
401 AIEHI L 2 0] 16,000 0 16,000
01 A& HI 16,000 0 16,000
O AES AL JIsE2S
16,000, 000& 14 16,000
ZOHQl ME HOlH I 593,757 591,592 2,165
= 66,640
< 86,894
Al 440,223
o ME BHo NS 12,650 13,970 A1,320
201 Let24d] 7,970 7,970 0
01 At 22l 7,970 7,970 0
O1 gt=2Hl 1,600
D> &O0H QI AtS Xt E XM & (2,8000H)
800,000& »23| 1,600
O3 2d=¢ 6,370
DEOMR BsXIMNE e &=
70,000& »7Q1 x 132 6,370
202 o4dl 4,680 6,000 A 1,320
01 = LH o4 1l 4,680 6,000 21,320
OHMHU=A PR+ Ol 390,000& =122 4,680
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ZZZ 0§t

ZOHe HE Bl

0H

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OO S8 2SEAEY 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
11T AS S RAEE = 30,000 30,000 0
OFHe EE8 28AY 30,000,000& » 14! 30,000
AN TEAJAEH 2 29,416 28,560 856
< 5,883
Al 23,533
307 g1+l & 29,416 28,560 856
< 5,883
Al 23,533
11T MISXASEX 29,416 28,560 856
OAZZEOoHe TR AY 29,416,000 14 29,416
< 5,883
Al 23,533
Fojel =4 A 21,006 21,006 0
< 4,203
Al 16,803
307 21201 A 21,006 21,006 0
< 4,203
Al 16,803
11T MISXASEX 21,006 21,006 0
OFe R4 ALY 21,006,000 =14 21,006
= 4,203
Al 16,803
0o M2 R=E 36,528 32,040 4,488
< 7,305
Al 29,223
201 £B-2dH| 36,528 32,040 4,488
< 7,305
Al 29,223
01 At 22l 36,528 32,040 4,488
O1 get==2Hl 36,528
D& A2R=XE 36,528,000 » 14! 36,528
< 7,305
Al 29,223
ZO0HQ CIASAY 29 57,886 56,200 1,686
= 11,577
Al 46,309
307 21201 A 57,886 56,200 1,686
< 11,577
Al 46,309
11T AL S XA E = 57,886 56,200 1,686
OFOHl QIASAL ALY 57,886,000 14 & 57,886
< 11,577
Al 46,309
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOHQ EoAAIE XJHH 29 40,000 40,000 0
307 gl2tol & 40,000 40,000 0
11T AS S RAEE = 40,000 40,000 0
OZofel HAANE XNALEH 29
40,000,000 =10 2 40,000
SSHEMHANSXJHE 2 142,500 150,000 AT7,500
= 57,000
< 17,100
Al 68,400
307 21201 A 142,500 150,000 A7,500
= 57,000
< 17,100
Al 68,400
11 ALS S RAEE = 142,500 150,000 A7,500
O=ZZMe NEXE ALY
142,500,000 «1JH £ 142,500
= 57,000
< 17,100
Al 68,400
O AT A/SHE 2ZH| 50,000 50,000 0
307 21201 A 50,000 50,000 0
11T M3 SXASEEX 50,000 50,000 0
OZOMAEEHT A/SHEH 2
50,000,000 *1J4 & 50,000
g 2= 23 80,000 80,000 0
307 21201 A 80,000 80,000 0
11T MISAASEX 80,000 80,000 0
OFel dEg=2=2E 2 80,000,000& 14 A 80,000
LML NEFAXA 13,771 5,300 8,471
= 9,640
< 826
Al 3,305
307 21201 A 13,771 5,300 8,471
= 9,640
< 826
Al 3,305
05 BIZERI & 3 13,771 5,300 8,471
OLE M INIESFAXA 13,771,000 14 13,771
= 9,640
< 826
Al 3,305
TS AA LHENE ALY 40,000 0 40,000
< 20,000
Al 20,000
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513,969
1,199,250
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,710,719

,997,500
513,969
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64,976
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301 €EtE &= 721,961 928,830 A 206,869

505,373
64,976
161,612

= N W
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505,373
64,976
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443,476
57,017
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RN 633,537 646,942 A 13,405
OXASl Zoiag X2 633,537,0008 %14l 633,537
443,476

57,017
133,044
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o 2238 X 19,740 19,740 0
< 3,948
Al 15,792
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3,948
15,792
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3,948
16,792
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5,735
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5,735

1,147
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= 139,619
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g Foje=sx sd

chel: ZOHQ AMSIEO B (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
301 gt L= 7,500 7,500 0
09 HALAHIEA S 7,500 7,500 0
OZOje! 215 (h3 2 DEAS FIL OfHI=
&t 100,000& 750! 7,500
ool 2ted AL X & 42,000 42,000 0
307 21201 A 42,000 42,000 0
04 DIZHHALALSE E X 42,000 42,000 0
OFHe SA4FAUS 2,000,000& x13] 2,000
OFoelay At 10,000, 000& 12/ 10,000
OJ=ZoHel&tore =H 30,000,000& =13l 30,000
Zopel =X X 40,900 46,900 A 6,000
307 gl2tol & 40,900 46,900 26,000
04 DIZHHALAISE E X 40,900 46,900 A 6,000
OO CrAIN & &AL 1,800, 000& 14 1,800
ORME= 4 A 3,000,000& =14 3,000
Os3&Me LS00l 3,400,000 » 14! 3,400
OFMEMHL &EXNHSHXE 3,000,000& x14! 3,000
OAIMZOHR AtSI &0 A 3,500,000& 14 3,500
OXMZEOHR At/ &N A 7,600,000 14! 7,600
OAIZTZOHR AFSI & A 5,200,000 * 14 5,200
OFLUHOMH A& A 9,500,000 14! 9,500
OR22 &Mdte =2==dl  3,900,000& 14 3,900
ool gerd dxtel 381,000 400,000 219,000
= 190,500
< 38,100
Al 152,400
101 @14 Hl 381,000 400,000 219,000
= 190,500
< 38,100
Al 152,400
04 JIZHHZ2XNHEE S 381,000 400,000 219,000
OFOHel #@FE0| 1Al
381,000,000& =14 381,000
= 190,500
< 38,100
Al 152,400
A=K LXel XA 105,000 111,000 26,000
= 52,500
< 10,500
Al 42,000
307 gl2tol & 105,000 111,000 26,000
= 52,500
< 10,500
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 42,000
11T MISXASEX 105,000 111,000 26,000
OHMA=A LAel XA 105,000, 000& 14 105,000
= 52,500
< 10,500
Al 42,000
Z2Y A0 OFOFAF THAHAAMY 120,200 123,000 A 2,800
= 96,160
< 4,808
Al 19,232
307 21201 A 120,200 123,000 A 2,800
= 96,160
< 4,808
Al 19,232
11T MISXASEEX 120,200 123,000 A 2,800
OZZ2Y A2 Z 0l eHOLAL IHA
120,200, 000& * 14 120,200
= 96,160
< 4,808
Al 19,232
ool 232X FIOHKE 150,000 150,000 0
307 21201 A 150,000 150,000 0
11T MISRASEX 150,000 150,000 0
OFoergsEx =t N&
150,000, 0002 * 14! 150,000
HHEZML NEAY 16,666 13,500 3,166
= 11,666
< 1,000
Al 4,000
307 glz2+ol & 16,666 13,500 3,166
= 11,666
< 1,000
Al 4,000
11T MISAASER 16,666 13,500 3,166
OWEZMHL WA 16,666,000 14! 16,666
= 11,666
< 1,000
Al 4,000
ZONCIDLE X | ME X 90,000 90,000 0
307 21201 A 90,000 90,000 0
10 M2 SXNANEHESIHEX 49,522 0 49,522
OZOMLIIEXNRHEH 2
49,522 ,000& =10 2 49,522
11 ALS S XAEE = 40,478 90,000 N49,522
OFMIIEXNJEEH 2208 29|
40,478,000 =10 2 40,478
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Chol: FONOl ALBIE O SO CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOHOtSTHE X Z ALY 781,083 741,476 39,607
= 546,758
< 46,865
Al 187,460
307 gl2tol & 781,083 741,476 39,607
= 546,758
< 46,865
Al 187,460
05 RIZHRIEF 3 781,083 741,476 39,607
OHOOtSHE X 2 AtS 781,083,000 » 14! 781,083
= 546,758
< 46,865
Al 187,460
EHESSZMHL ESEXNJAY 266,800 171,000 95,800
< 53,360
Al 213,440
307 21201 A 266,800 171,000 95,800
< 53,360
Al 213,440
11T MISRASEX 266,800 171,000 95,800
O=ENESZMHLY 22X ALY
266,800,000 » 14! 266,800
< 53,360
Al 213,440
ZOHOts HMASIA 2AAY 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
11T MISXASEX 70,000 70,000 0
OZMots MEsaA 29
70,000,000 * 14 2 70,000
AMEBLEHAEL tH UYL A 4,286 12,100 AT,814
= 3,000
< 257
Al 1,029
307 glz2tol & 4,286 12,100 AT,814
= 3,000
< 257
Al 1,029
05 RIZHRI & 3 4,286 12,100 NT,814
OABZEMNARZ IH dogg XA
4,286,000 =14 4,286
= 3,000
< 257
Al 1,029
gstE o YFeldy 2F 30,000 30,000 0
308 AHAIEHHSOIA 30,000 30,000 0
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A= Eo0)o
Zoje=x =X
ZOHOl AMEIEOl BT

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
08 WSIIZ20HetE = 30,000 30,000 0
Ogss slYselstn 29 30,000,000 =14 30,000
ZoHots 2= XNJAHH 29 21,000 21,000 0
307 glz2tol & 21,000 21,000 0
11T MISRASEX 21,000 21,000 0
OZ0iots = wa At
21,000,000 14 & 21,000
ZOHQIOorsr 2gdl XI& 14,000 0 14,000
< 7,000
Al 7,000
307 Q12+0| & 14,000 0 14,000
< 7,000
Al 7,000
11T M SXASEX 14,000 0 14,000
OFoel oFst 2 X& 14,000, 000& * 14 14,000
< 7,000
Al 7,000
FlaclaE XA 5,705 9,600 A 3,895
= 4,000
< 342
Al 1,363
307 21201 A 5,705 9,600 A 3,895
= 4,000
< 342
Al 1,363
05 RIZt2IEt = 5,705 9,600 A 3,895
OLETMHARR2 A4S MEIAXA
5,705,000& x 14! 5,705
= 4,000
< 342
Al 1,363
ZOHASRIAIE SAX HEHS 15,000 13,000 2,000
307 21201 A 15,000 13,000 2,000
11T M3 SRASEEX 15,000 13,000 2,000
OZOMASXAIE SAK HE3(1002)
15,000, 000& 14! 15,000
LEIMAXNRALEH =24 90,000 90,000 0
307 glz2+ol & 90,000 90,000 0
10 ALSISXAIEEE2EHEX 62,300 62,300 0
OLEZMHAXALE 2
62,300,000 14 & 62,300
11T MISAASEX 27,700 27,700 0
OLYTHAXAHE A
27,700,000 104 & 27,700
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Chel: ZOHQl A& = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOopel oFst ol™ & Xlihl 302,300 0 302,300
< 150,000
Al 152,300
201 £B-2d| 2,300 0 2,300
01 At 22l 2,300 0 2,300
O1 get==2Hl 2,300
> &EOHQ OFstol ™ MM & &
2,300,000 » 14 2,300
401 A& HIZ 2018 300,000 0 300,000
= 150,000
Al 150,000
01 A& HI 300,000 0 300,000
OZO0oHel Orstold & XIHl 300,000,000 141 300,000
< 150,000
Al 150,000
HWRes(Z2F0elt) 820,000 520,000 300,000
8= 820,000 520,000 300,000
Xl & XH A &8 820,000 520,000 300,000
311 X+ S 0| X &k & 520,000 520,000 0
01T Al -2 - 2XNSHLISXHL SO0 K& & 520,000 520,000 0
OF233HE =LA 520,000,000& =14 520,000
601 XL S A S &2 300,000 0 300,000
01T Al -2 - 2XNSHEI I SHL=Aso 300,000 0 300,000
OF2I3JHE ZHAE 300,000,000 =14 300,000
dY2HIH (B0 ) 105,941 103,770 2,171
IHA2IH(ZZZ0Q ) 50,393 48,222 2,171
olAIH(ZZH0i 1) 50,393 48,222 2,171
101 @14 dl 50,393 48,222 2,171
01 2= 50,393 48,222 2,171
OAtZexE 9,332& 1821 x300Al 2t 50,393
JI2ZH (22 01el) 55,548 55,548 0
Jl2ZHI(Z2Z 0l t) 55,548 55,548 0
201 £B-2dH| 37,788 37,788 0
01 At 22l 27,048 27,048 0
O1 g2t 21,000
DEREMA2IE=EH 21,000,000& =14 21,000
O5 =&l 6,048
DOor2t, S€2% 7,000& 1801 43| x 128 6,048
02 =24l 10,740 10,740 0
O1 83322 ¥ HA 9,340
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DRELZ 9,340
[OR=PIR ] 1,930& 31024« 12& 7,180
Ot ™ 3003 x600H x12& 2,160
O3 A€ & IS Xl 1,400
> S A = X8I 700,000 »2CH 1,400
202 04 HI 13,560 13,560
01 = LH o4 1l 13,560 13,560
OJl2ge2=8 bl 1,130,000& x12& 13,560
203 R F=&H| 4,200 4,200
04 NI FAH 4,200 4,200
ORA2EIRFAHI 350,000& 123 4,200




